o}, /BAC =70°

@ ‘ABC @):acB ® (EAC

Zo]l5 HJoervg /BAC = /DAC = 70° ©|t}. /DAC =
(ACB (91Z}) o]t}
w2t /BAC = /ACB ©]t}.




o} 195} Zo] AB = BC 9l oS #4H2HE ABC oAl /A = 27°
o ), x ] aﬂt

@se @ 56° ® 58° @ 60° ® 62°

Lx = 27° + 27° = 54°




3. S O3 o] AB = CB ¢l o] 54719 ABC o4 Z/ABD = 98°
g, 2x & 2717

A

98

Q

e
ws)

@® 45° @ 47° 3)49° @ 51° ® 53°

2X /x =98°
SoLx =49°




S 183} Zo] AP = BP, ABLCP ¢l A7t ABCE H1 &
A& 5% =t
A
P

B C
@ /A = /B © AABC = A4S
® /ACP = /BCP ® AC #BC
> £
> £
> 9
> ©




-

(A = FFoIRR
AABE = AACD (( ® | %)
. DC =

O @: AE
@ @: AD ®)O@ : ASA

~&B

® ©®: AC

[7}4] AABC 94 AB = AC, AD = AE
[22] DC =EB

[5] AABE ¢ AACD A

AB =AC, AE = AD, /A & 350|22
AABE = AACD (SAS 3%)

. DC =EB




. LABC = 55°

@ /ABE @ /DAB ®):ac
@ /CAB @) .cnr

B \
@ /ABE = 180° - ZABC - /CBF = 180° - 55° - 55° = 70°
@ /DAB = 180° — ZCAB = 180° - 70° = 110°
® /CBF = /ACB = 55° (97}
@ AABCO] Yzto] g2 180°0]18=2

LCAB = 180°-55°—-55°=70°
® Zo] Ho]ZE oW /ABC = /CBF = 55°




e 1Y go] Fo] At Fol Ho|ZE . /CAD = 75°

A off, /x 2] A7]=?

@ 20° @ 25° @30° @ 35° ® 40°

(DAC = £CAB = 75° (¥°]
(DAC = /ACB = 75° (97}
et AABCE BZte] 37]71 75°0]1, AB = BCSl ©]5#
Azr el

. /x=180°-T75°-"75°=30°

o] e 7




8.

ohS 129] AABCE /A =90°, AB = AC 2l F|Zto| S At

tt. BA=BD, ED=DCY o, o+ & &4 &2 A7

C

@D AABE = ADBE @ /DBE = /ABE
G)AE -EC @ AE = DE = DC
® /DEC = /DCE

B

O AABE2} ADBE=
BA =BD, BE+ &%, /BAE = /BDE = 90°
. AABE = ADBE(SAS &%)

@ AABE = ADBE°|2 2 /DBE = /ABE ©]|t}.

@® ACDEE FZo]5H4ztgo|2=2 DE = DC
¥ AABE = ADBE(SAS$-%) ©| 22 AE = DE
. AE =DE =DC

® AABC+ AZo| ALY o|BR /C =45°
ACDE A /DEC = 180° — (90° 4 45°) = 45°
. (DEC = /DCE




® AABD £ o]|5HMTE

o&

@ AC 7} 5cm € @, BD = 5cm ©]t.

TR 2L AABC 14 AC = CD 9 u, A
591 4% BE 2R /f\
1 600
B D T C
@ /ADC =50°
© A=90°
© £ABD =40°

® 6,0 @ 0 ® ®a, e
@ 3, @ ® © e

B

AADC 9|4 AC =CD 0|2 =&

—_

/CAD = /CDA = = x (180° - 60°) = 60°

wa2kA AADC = ZAZFg ol

/BAC =30°+60°=90°

w2k AABC 9|4 LABC = £ABD = 30° ©]t}.
/BAD = /ABD = 30° |22 AABD £ o]|5HA7HY
AADC & AAFZ}g o]l AABD £ o] SHAZ ol B g
CD =AD =BD

wbA] AC 7} 5em € ©f, BD = 5¢m ©| o

[N)




10. ©& 187} o] AB = AC Q1 AABC o)A H N
AB Yol P & Fot P & At A BC o
2191 2 o] ¥ BC, ¥ CA o] A4} gt
= 342 M,N o2t & o, o5 5 %A
re AL wE 12W9 (A 27H) y
B
(@)aP-BP @ AP = AN
® /BAC = 2/ANP @ /ANP = /APN = /BPM

@ANCM = APBM

B

(C = zx 21l S} AABC = o|GHAZAF oI ER /C = /B =
/x ,/BAC = 180° - 2/x

ABPM 94 /BPM = 90° — zx & /BPM = /APN (ZZ2]Z})
AAPN 9|4 /BAC = /APN + /ANP ©]2&2

180° - 2/x = (90° — 2x) + LANP

LANP = 90° - /x

.. LANP = /BPM = /APN , /BAC = 2/ANP

AAPN oA &= Z}o] 3717t Zo B = o FH A

- AP = AN




11. & a9 AB = AC ©]1 /DFC =90°< o, x ¢ Zo]x?

® 3cm @)4 cm ® 5cm @ 6cm ® 7cm

AABC |4 /ABC =a 2t 5tH AB = AC 9|22 /ACB =4
ojtt.

w2tA ABEF |4 /BEF = 90—a ©]1 utzH712] 2 ADCF ©f| A
/CDF = 90 — a ©|t}.

Z, /BEF = /CDF, (BEF = /AED (@& A7} o]t}

w2} A ,CDF = /AED ©|E 2 AAED & o] 5 ¥ Atz o1,
AD = AE = x(cm) o]t} w2tA AB = 44-x
x = 4(cm) o]t}

[

i
Q
1)
[0
t




12. o J¥3 & AABC 9|4 BD = BE, CA = CE ©]1 /DBE =
30°, LACE = 70° 9 1, zx ©] 3718 Fa}olat,

[ 2
> =g 50°

1
ABED ©]4 /BED = 5 (1807 =30%) = 75°

1
ACAE 914 ZAEC = (180° - 70°) = 55°
- Lx = 180° = (75° + 55°) = 50°




13. & 189 AABC 94 AB = AC = 10cm, DC = 6cm, DE = 4.8cm
91, 3D 9] Aolg Fatolzl.

Q

AD = o|SHAZY o] BA]Z}to] o] FEAo|RZ
BD = CD, /ADC = 90° o]t}




14. o2 24 Zo] AB = AC ¢l o]5HAZ o4 AD = BD = BC
A uff, /DBC ¢] 27]& F5tof=t

A

>
> =g 36°

S5 \
(A = za 2 SFH £C = 24a,
/ABC = 2/a °|E.2
(ABD = /DBC = za, 5/a = 180°, Za = 36°
.. /DBC = 36°




15. o3 o4 AABP = aAACP ©]t}. PD = BD ©o]1!
o, CD ¢] Zo]& Fstoiet.

A

>
> HE. 16cm

3
-,

AABP = AACP 9J|A]

PB =PC,AB = AC, /BAD = /CAD °|2&
AABD = AACD(SAS) 35

u2hA] /ADB = /ADC

(ADC = 90°

- PD = BD =CD = 16(cm)




